\$0.00 (0.00%)

\$0.00 (0.00%)

\$0.00

12 (1.26%)

6 (0.63%)

12

36.36%

19.35%

11.43%

Referral Traffic



Oct 1, 2018 - Oct 31, 2018

Explorer

Summary



Acquisition	Acquisition					Conversions Goal 1: Mobile IDB Access		
Users	New Users	Sessions	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mobile IDB Access (Goal 1 Value)
2,973 % of Total: 24.25% (12,262)	838 % of Total: 10.84% (7,729)	9,503 % of Total: 27.99% (33,956)	39.62% Avg for View: 42.87% (-7.59%)	3.69 Avg for View: 3.03 (21.75%)	00:06:01 Avg for View: 00:04:12 (43.53%)	10.03% Avg for View: 12.14% (-17.39%)	953 % of Total: 23.12% (4,122)	\$0.00 % of Total: 0.00% (\$0.00)
896 (26.49%)	30 (3.58%)	2,901 (30.53%)	36.06%	3.92	00:05:36	8.96%	260 (27.28%)	\$0.00 (0.00%)
891 (26.35%)	279 (33.29%)	2,080 (21.89%)	45.72%	3.29	00:04:46	5.96%	124 (13.01%)	\$0.00 (0.00%)
612 (18.10%)	250 (29.83%)	1,539 (16.19%)	34.37%	4.63	00:06:54	14.23%	219 (22.98%)	\$0.00 (0.00%)
3 49 (10.32%)	1 (0.12%)	1,547 (16.28%)	43.50%	3.74	00:09:18	12.48%	193 (20.25%)	\$0.00 (0.00%)
40 (1.18%)	0 (0.00%)	112 (1.18%)	31.25%	2.94	00:04:09	13.39%	15 (1.57%)	\$0.00 (0.00%)
31 (0.92%)	23 (2.74%)	51 (0.54%)	23.53%	2.49	00:01:46	3.92%	(0.21%)	\$0.00 (0.00%)
29 (0.86%)	8 (0.95%)	50 (0.53%)	12.00%	1.18	00:00:55	0.00%	(0.00%)	\$0.00 (0.00%)
24 (0.71%)	5 (0.60%)	41 (0.43%)	34.15%	3.22	00:01:58	0.00%	(0.00%)	\$0.00 (0.00%)
24 (0.71%)	0 (0.00%)	41 (0.43%)	7.32%	3.73	00:03:42	51.22%	21 (2.20%)	\$0.00 (0.00%)
23 (0.68%)	(0.00%)	57 (0.60%)	45.61%	1.93	00:01:41	22.81%	13 (1.36%)	\$0.00 (0.00%)
chbo 22 (0.65%)	21 (2.51%)	23 (0.24%)	78.26%	1.35	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
22 (0.65%)	7 (0.84%)	55 (0.58%)	41.82%	2.15	00:02:46	14.55%	8 (0.84%)	\$0.00 (0.00%)
22 (0.65%)	5 (0.60%)	70 (0.74%)	24.29%	3.04	00:06:21	18.57%	13 (1.36%)	\$0.00 (0.00%)
20 (0.59%)	20 (2.39%)	20 (0.21%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
	Users 2,973 % of Total: 24.25% (12,262) 896 (26.49%) 891 (26.35%) 612 (18.10%) 40 (1.18%) 29 (0.86%) 24 (0.71%) 23 (0.68%) chbo 22 (0.65%) 22 (0.65%) 20	Users	Users New Users Sessions	Users	Users New Users Sessions Bounce Rate Pages / Session	Users New Users Sessions Bounce Rate Session Duration 2,973 838 9,503 39.62% 3.69 00:06:01 10	Users New Users Sessions Bounce Rate Pages / Session Mobile IDB Access (Goal 1 Conversion Rate)	Users New Users Sessions Bounce Rate Pages / Session Session Completions Completions Completions

33 (0.35%)

(0.33%)

105

(0.12%)

8 (0.95%)

3

21.21%

25.81%

30.48%

00:00:37

00:01:35

00:04:09

3.36

2.16

2.72

20 (0.59%)

19 (0.56%)

18

web-b-ebscohost-

com.prxy4.ursus.maine.edu

16. digitalcommons.library.umaine.edu

17. qq4nm4zz3u.search.serialssolutions.com

18.	refchatter.net	18 (0.53%)	0 (0.00%)	44 (0.46%)	45.45%	4.68	00:10:26	6.82%	3 (0.31%)	\$0.00 (0.00%)
19.	mycampus.maine.edu	16 (0.47%)	7 (0.84%)	42 (0.44%)	45.24%	3.38	00:08:26	2.38%	1 (0.10%)	\$0.00 (0.00%)
20.	ursus.maine.edu	14 (0.41%)	6 (0.72%)	39 (0.41%)	28.21%	2.64	00:05:18	10.26%	4 (0.42%)	\$0.00 (0.00%)
21.	ebook.yourcloudlibrary.com	13 (0.38%)	4 (0.48%)	49 (0.52%)	63.27%	2.02	00:02:52	4.08%	(0.21%)	\$0.00 (0.00%)
22.	m.facebook.com	12 (0.35%)	12 (1.43%)	12 (0.13%)	50.00%	1.08	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
23.	perform-like-alibabaty.info	11 (0.33%)	11 (1.31%)	11 (0.12%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24.	leadershipise-articles.info	10 (0.30%)	10 (1.19%)	10 (0.11%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25.	maine-csm.symplicity.com	10 (0.30%)	0 (0.00%)	12 (0.13%)	33.33%	4.50	00:03:43	16.67%	(0.21%)	\$0.00 (0.00%)
26.	msn.com	10 (0.30%)	3 (0.36%)	28 (0.29%)	28.57%	3.32	00:02:21	50.00%	14 (1.47%)	\$0.00 (0.00%)
27.	getpy-click.info	9 (0.27%)	9 (1.07%)	9 (0.09%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
28.	search-proquest- com.prxy4.ursus.maine.edu	9 (0.27%)	0 (0.00%)	21 (0.22%)	47.62%	3.10	00:05:46	14.29%	3 (0.31%)	\$0.00 (0.00%)
29.	en.wikipedia.org	8 (0.24%)	7 (0.84%)	9 (0.09%)	66.67%	1.67	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
30.	online.eiu.edu	6 (0.18%)	6 (0.72%)	7 (0.07%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
31.	t.co	6 (0.18%)	4 (0.48%)	9 (0.09%)	55.56%	1.33	00:00:12	0.00%	(0.00%)	\$0.00 (0.00%)
32.	worldcat.org	6 (0.18%)	5 (0.60%)	7 (0.07%)	14.29%	1.43	00:03:24	0.00%	(0.00%)	\$0.00 (0.00%)
33.	development.library.umaine.edu	5 (0.15%)	1 (0.12%)	72 (0.76%)	52.78%	1.65	00:06:57	0.00%	(0.00%)	\$0.00 (0.00%)
34.	newlibrary.library.umaine.edu	5 (0.15%)	0 (0.00%)	28 (0.29%)	14.29%	3.93	00:02:29	0.00%	(0.00%)	\$0.00 (0.00%)
35.	onlinelibrary-wiley- com.prxy4.ursus.maine.edu	5 (0.15%)	1 (0.12%)	35 (0.37%)	11.43%	3.54	00:07:18	8.57%	3 (0.31%)	\$0.00 (0.00%)
36.	us.search.yahoo.com	5 (0.15%)	3 (0.36%)	9 (0.09%)	55.56%	2.00	00:01:00	0.00%	(0.00%)	\$0.00 (0.00%)
37.	facebook.com	4 (0.12%)	3 (0.36%)	5 (0.05%)	60.00%	1.20	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
38.	go.umaine.edu	4 (0.12%)	2 (0.24%)	5 (0.05%)	40.00%	1.80	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
39.	mycheaptraffic.com	4 (0.12%)	4 (0.48%)	4 (0.04%)	75.00%	1.25	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
40.	r.search.aol.com	4 (0.12%)	3 (0.36%)	7 (0.07%)	28.57%	2.43	00:01:03	28.57%	(0.21%)	\$0.00 (0.00%)
41.	search.tb.ask.com	4 (0.12%)	2 (0.24%)	23 (0.24%)	26.09%	2.26	00:05:00	39.13%	9 (0.94%)	\$0.00 (0.00%)
42.	umaine.altarama.com	4 (0.12%)	0 (0.00%)	5 (0.05%)	0.00%	10.40	00:07:21	20.00%	1 (0.10%)	\$0.00 (0.00%)
43.	bangordailynews.com	3 (0.09%)	3 (0.36%)	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
44.	en.m.wikipedia.org	3 (0.09%)	3 (0.36%)	3 (0.03%)	66.67%	1.33	00:00:25	0.00%	(0.00%)	\$0.00 (0.00%)
45.	honors.umaine.edu	3 (0.09%)	2 (0.24%)	3 (0.03%)	66.67%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
46.	online.umaine.edu	3 (0.09%)	1 (0.12%)	4 (0.04%)	25.00%	2.50	00:01:31	0.00%	(0.00%)	\$0.00 (0.00%)
47.	sites.umaine.edu	3 (0.09%)	1 (0.12%)	3 (0.03%)	33.33%	5.33	00:13:35	0.00%	(0.00%)	\$0.00 (0.00%)
48.	umaine.libapps.com	3 (0.09%)	0 (0.00%)	66 (0.69%)	21.21%	7.12	00:19:32	10.61%	7 (0.73%)	\$0.00 (0.00%)
49.	192.168.0.1	2 (0.06%)	0 (0.00%)	13 (0.14%)	61.54%	3.15	00:04:17	15.38%	(0.21%)	\$0.00 (0.00%)
50.	archive.cfrumembers.org	2 (0.06%)	1 (0.12%)	3 (0.03%)	33.33%	1.67	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
51.	archives.library.umaine.edu	2 (0.06%)	1 (0.12%)	3 (0.03%)	0.00%	1.33	00:00:32	0.00%	(0.00%)	\$0.00 (0.00%)

52.	aresum.foglerlibrary.org	2 (0.06%)	0 (0.00%)	2 (0.02%)	0.00%	1.50	00:05:10	0.00%	(0.00%)	\$0.00 (0.00%)
53.	ca.search.yahoo.com	2 (0.06%)	2 (0.24%)	2 (0.02%)	0.00%	4.00	00:02:08	100.00%	(0.21%)	\$0.00 (0.00%)
54.	colby.edu	2 (0.06%)	2 (0.24%)	2 (0.02%)	50.00%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
55.	com.google.android.gm	2 (0.06%)	2 (0.24%)	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
56.	community.libguides.com	2 (0.06%)	2 (0.24%)	2 (0.02%)	50.00%	3.50	00:00:52	0.00%	(0.00%)	\$0.00 (0.00%)
57.	foglerlibrary.org	2 (0.06%)	0 (0.00%)	3 (0.03%)	66.67%	1.33	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
58.	libr.org	2 (0.06%)	2 (0.24%)	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
59.	searchencrypt.com	2 (0.06%)	0 (0.00%)	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
60.	symbaloo.com	2 (0.06%)	1 (0.12%)	15 (0.16%)	86.67%	1.13	00:01:45	0.00%	(0.00%)	\$0.00 (0.00%)
61.	t.umblr.com	2 (0.06%)	2 (0.24%)	2 (0.02%)	0.00%	1.00	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
62.	umaine.summon.serialssolutions.com.prx y4.ursus.maine.edu	(0.06%)	0 (0.00%)	5 (0.05%)	80.00%	1.40	00:01:28	0.00%	(0.00%)	\$0.00 (0.00%)
63.	182.73.50.19:182	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
64.	accionpreferente.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	1.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
65.	acrl.ala.org	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
66.	ae.preview.serialssolutions.com	1 (0.03%)	0 (0.00%)	14 (0.15%)	71.43%	1.79	00:01:05	0.00%	(0.00%)	\$0.00 (0.00%)
67.	backlinkwatch.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
68.	baileylibrary.org	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	(0.00%)	\$0.00 (0.00%)
69.	blog4u.top	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	(0.00%)	\$0.00 (0.00%)
70.	bslw.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	1.00	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
71.	calendar.umaine.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
72.	catalog.umaine.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:01:06	0.00%	(0.00%)	\$0.00 (0.00%)
73.	citethisforme.com	1 (0.03%)	0 (0.00%)	5 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
74.	com203messina.blogspot.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
75.	cp1.abulmart.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	(0.00%)	\$0.00 (0.00%)
76.	cugr.umaine.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	6.00	00:02:12	0.00%	(0.00%)	\$0.00 (0.00%)
77.	curtislibrary.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
78.	demo.umaine.bepress.com	1 (0.03%)	0 (0.00%)	5 (0.05%)	80.00%	1.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
79.	diversifiedink.net	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
80.	dll.umaine.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:02:22	0.00%	(0.00%)	\$0.00 (0.00%)
81.	dnserrorassist.att.net	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	(0.00%)	\$0.00 (0.00%)
82.	earlymaine.org	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
83.	ebookcentral.proquest.com	1 (0.03%)	0 (0.00%)	1 (0.01%)	0.00%	2.00	00:05:53	0.00%	(0.00%)	\$0.00 (0.00%)
84.	engineering.umaine.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:02:23	0.00%	(0.00%)	\$0.00 (0.00%)
85.	english.umaine.edu	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
86	free-website-traffic com	1	1	1	100 00%	1.00	00.00.00	0.00%	0	\$0.00

00.	nee website trainic.com	(0.03%)	(0.12%)	(0.01%)	100.00%	1.00	00.00.00	0.00%	(0.00%)	(0.00%)
87.	g.codery.ga	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
88.	g.vvvip.top	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
89.	giscolorado.org	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
90.	go.mail.ru	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
91.	google.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
92.	historicalsocietyoflitchfieldmaine.org	1 (0.03%)	1 (0.12%)	(0.02%)	50.00%	1.00	00:00:36	0.00%	(0.00%)	\$0.00 (0.00%)
93.	iblogger.site	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	(0.00%)	\$0.00 (0.00%)
94.	identity.maine.edu	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
95.	ifa.hawaii.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
96.	in.search.yahoo.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
97.	indiasourcemart.in	1 (0.03%)	1 (0.12%)	(0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
98.	int.search.tb.ask.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
99.	intranet	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:02:55	0.00%	(0.00%)	\$0.00 (0.00%)
100.	iopscience.iop.org.prxy4.ursus.maine.edu	1 (0.03%)	(0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
101.	I.facebook.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
102.	l.instagram.com	1 (0.03%)	(0.00%)	(0.02%)	0.00%	8.00	00:32:31	0.00%	(0.00%)	\$0.00 (0.00%)
103.	legislature.maine.gov	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
104.	libguides.chesapeake.edu	1 (0.03%)	(0.00%)	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	(0.00%)	\$0.00 (0.00%)
105.	librarytechnology.org	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
106.	libx.org	1 (0.03%)	(0.00%)	1 (0.01%)	0.00%	2.00	00:01:04	0.00%	(0.00%)	\$0.00 (0.00%)
107.	loc.gov	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
108.	maine.gov	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
109.	mainecat.maine.edu	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
110.	mainehealth.libguides.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	3.00	00:00:28	0.00%	(0.00%)	\$0.00 (0.00%)
111.	makeinternetnoise.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
112.	middleschool.net	1 (0.03%)	1 (0.12%)	2 (0.02%)	50.00%	1.50	00:00:08	0.00%	(0.00%)	\$0.00 (0.00%)
113.	outlook.live.com	1 (0.03%)	(0.00%)	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
114.	oxfordcounty.blogspot.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	1.00	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
115.	pinterest.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
116.	psycnet.apa.org.prxy4.ursus.maine.edu	1 (0.03%)	(0.00%)	(0.01%)	0.00%	2.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
117.	revolvy.com	1 (0.03%)	1 (0.12%)	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
118.	sandbox.acrl.org	1 (0.03%)	1 (0.12%)	(0.01%)	0.00%	9.00	00:07:57	0.00%	(0.00%)	\$0.00 (0.00%)
119.	searchincognito.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	1.00	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
120.	sites.google.com	1 (0.03%)	(0.00%)	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	(0.00%)	\$0.00 (0.00%)

121.	sk.sagepub.com.prxy4.ursus.maine.edu	1 (0.03%)	0 (0.00%)	2 (0.02%)	50.00%	2.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
122.	spatial.umaine.edu	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
123.	strong.mainememory.net	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	1.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
124.	themindunleashed.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	(0.00%)	\$0.00 (0.00%)
125.	thisoldyearbook.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
126.	umaine-edu.cdn.ampproject.org	1 (0.03%)	0 (0.00%)	1 (0.01%)	0.00%	1.00	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
127.	umaine.summon.serialssolutions.com.urs us-proxy-3.ursus.maine.edu	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
128.	umaine.summon.serialssolutions.com.urs us-proxy-7.ursus.maine.edu	1 (0.03%)	0 (0.00%)	2 (0.02%)	0.00%	1.50	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
129.	ursus-proxy-8.ursus.maine.edu	1 (0.03%)	0 (0.00%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
130.	us-mg5.mail.yahoo.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
131.	us12.admin.mailchimp.com	1 (0.03%)	0 (0.00%)	2 (0.02%)	50.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
132.	vr2cc.verticalresponse.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
133.	webmail.uninets.net	1 (0.03%)	0 (0.00%)	4 (0.04%)	0.00%	2.00	00:01:05	0.00%	(0.00%)	\$0.00 (0.00%)
134.	zpub.com	1 (0.03%)	1 (0.12%)	1 (0.01%)	0.00%	7.00	00:03:46	0.00%	(0.00%)	\$0.00 (0.00%)

Rows 1 - 134 of 134